| Share equally among the trays.
(a) 60 sardines —» 6 trays (b) 2l trout —» 7 trays
(c) 54 cod —> 9 trays (d) 70 herring —» 7 trays
(e) 12 haddock— 6 trays (f) 45 salmon —» 9 trays
() 49 plaice —>» 7 trays (h) 72 sole —» 9 trays

2 (a) Divide 9 by Q. (b) 48 divided equally among 6
(c) 28 divided by 7 (d) How many fives make 457?
(e) Divide 0 by 8. (f) How many groups of 6 are in 187?
(9) 63 divided by 7  (h) Share 16 equally between 2.

3(@63+9=H ®b) 6+6=0 (c) 0+7=H
d B+-6=19 (e) M+7=28 ¢ B+-9=0
(99 30-m =5 (h) 32+-W=8 () 8l +W=19
4 How many sardines can you buy?
(a) Spend 40p. (b) Spend 80p.
() Spend 32p. (d) Spend 48p.

Hari bought half as many sardines as Emma.
Hzgether their sardines cost 72p.

I W many sardines did each buy?




